Check for updates

OPEN ACCESS

EDITED BY Ogochukwu Chinedum Okoye, Delta State University, Abraka, Nigeria

REVIEWED BY J. Carolyn Graff, University of Tennessee Health Science Center (UTHSC), United States Patrick Oyibo, City University of London, United Kingdom

*CORRESPONDENCE Nazia S. Saiyed ⊠ nazia.saiyed@sinai.org

RECEIVED 21 August 2024 ACCEPTED 07 February 2025 PUBLISHED 26 February 2025

CITATION

Saiyed NS, Bishop-Royse JC, Smart BP, Leung A and Benjamins MR (2025) Black:white inequities in infant mortality across the 69 most populous US cities, 2018–2021. *Front. Public Health* 13:1484433. doi: 10.3389/fpubh.2025.1484433

COPYRIGHT

© 2025 Saiyed, Bishop-Royse, Smart, Leung and Benjamins. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

Black:white inequities in infant mortality across the 69 most populous US cities, 2018–2021

Nazia S. Saiyed^{1*}, Jessica C. Bishop-Royse², Britney P. Smart¹, Anne Leung³ and Maureen R. Benjamins^{1,3}

¹Sinai Urban Health Institute, Sinai Chicago, Chicago, IL, United States, ²College of Nursing, Rush University, Chicago, IL, United States, ³Chicago Medical School, Rosalind Franklin University of Medicine and Science, North Chicago, IL, United States

The United States has poor birth outcomes, including high rates of infant mortality and substantial racial inequities, compared to other developed nations. However, both overall mortality rates and racial inequities in rates vary across locations, emphasizing the structural forces that shape population health. We used mortality and natality data from the National Vital Statistics System to assess racial inequities in infant mortality rates within the most populous US cities for 2018-2021. Specifically, we: (1) calculate overall and race-specific infant mortality rates for 69 cities and racial inequities in infant mortality for 48 cities; and, (2) analyze associations between these inequities and city-level measures of structural racism. City-level infant mortality rates ranged from 1.96 deaths per 1,000 births in Irvine, CA to 13.92 in Detroit, MI. The non-Hispanic Black infant mortality rate was 2.5 times higher than the non-Hispanic white rate in the US and the Black:white rate ratio was statistically significant in all study cities, ranging from 1.8 (Omaha, NE) to 5.0 (Cincinnati, OH). The Black:white rate ratio was greater than 4.0 in 10 cities. Overall and race-specific infant mortality rates were associated with measures of education, economic status, incarceration, segregation, and diversity. Racial inequities in infant mortality were associated with measures of economic status. Understanding infant mortality inequities at the city level is critical to support the efforts of urban health advocates. Moreover, examining the persistent associations of structural racism with infant mortality will help guide necessary programmatic or policy decisions to reduce infant mortality in US cities.

KEYWORDS

infant mortality, birth outcomes, racism, structural racism, inequities, disparities, health equity, urban

Introduction

Infant mortality rates in the United States (US) compare poorly to those rates seen in peer countries and vary substantially among racial and ethnic groups. While US infant mortality rates declined substantially over the past two centuries, they increased slightly in 2022, to 5.6 deaths per 1,000 births, the highest among the most economically developed countries. Moreover, structural and social factors have led to the Black infant mortality rate (10.9/1,000) being two to three times larger than that of other racial and ethnic groups (1). This racial gap in infant mortality is not consistent across the country; there are larger disparities in midwestern and southern states compared to western regions (2). Data from 2013 to 2015 revealed wide variation in state-level race-specific infant mortality rates, with white infant mortality rates ranging from 2.5 (District of Columbia) to 7.0 (Arkansas), while Black infant mortality rates during the same period ranged from 8.3 (Massachusetts) to 14.3 (Wisconsin) (3).

Structural racism has been defined as the "totality of ways in which societies foster racial discrimination through mutually reinforcing systems of housing, education, employment, earnings, benefits, credit, media, health care, and criminal justice" [(4), p. 1453]. Racial inequities in infant mortality and other health outcomes are driven by structural racism, which limits the opportunities, resources, power, and well-being of communities of color (4). Some common domains used to define and measure structural racism include: education, employment, transportation, residential neighborhoods and housing, immigration and border enforcement, political participation, socioeconomic status, criminal justice, and workplace environment (5–8).

The impact of structural racism on infant mortality has been demonstrated at a variety of geographic levels in the US, including states, counties, and neighborhoods or community areas. At the state level, Wallace et al. found larger median household income, more highly educated residents, and higher rates of engagement with professional employment were associated with lower infant mortality (2017). A number of measures have been linked specifically to Black infant mortality rates, including inequities in education, employment, and the judicial system (9-11). Vilda et al. found that racial inequities in infant mortality increased in urban counties with a higher composite structural racism score (2021). At a smaller geographic level, Bishop-Royse et al. found an association between the Index of Concentration at the Extremes, a measure that represents the concentration of disadvantage in a geographic area, and infant mortality rates in Chicago community areas, which persisted after adjusting for socio-economic marginalization, hardship, household composition and family support, and healthcare access (2021).

Given the increased understanding of the role of structural racism in inequities in infant mortality and other adverse birth outcomes, the Centers for Disease for Control and Prevention began supporting a shift in focus from interventions addressing individual-level indicators to those that address more systemic and social factors in the 1990s, along with improved research and greater community involvement. Many interventions have been developed to address poor maternal and child health in cities and states across the US; while some such interventions have shown meaningful improvements or promise, inequities in infant mortality have remained high (12, 13).

Population-focused interventions need to be guided by population-level data. A number of research groups have explored city-level data on infant mortality and other poor birth outcomes, including low birthweight, preterm birth, teen births, and prenatal care [Big Cities Health (14, 15)]. However, data that explicitly compares infant mortality rates for non-Hispanic Black and non-Hispanic white populations and data that examines infant mortality rates in relation to city-level measures of structural racism and socio-demographic characteristics is missing. Given the geographic variation in inequities in infant mortality and the persistence of those inequities over time, an understanding of infant mortality rates and inequities at the city level is crucial to better understand factors that might contribute to poorer birth outcomes and support the efforts of urban health advocates. Moreover, assessing the association of structural racism with infant deaths will help guide necessary programmatic or policy decisions to improve infant mortality in US cities. The current study compares infant mortality rates from 2018 to 2021 for the non-Hispanic Black and non-Hispanic white populations and explores associated city-level risk factors within the 69 most populous US cities.

Methods

This study was ruled exempt from review by the Mount Sinai Hospital institutional review board because it uses deidentified data. The study followed the Strengthening the Reporting of Observational Studies in Epidemiology (STROBE) reporting guidelines.

Study population

The analysis was limited to cities with total populations of at least 300,000 people in the 2020 Census. Cities with smaller populations were excluded due to their likelihood of having fewer than 20 infant deaths during the study period. County data were used in place of city data in five locations where city and county governments have consolidated and city-specific natality and mortality data are not available (Nashville and Davidson County, TN; Indianapolis and Marion County, IN; Louisville and Jefferson County, KY; Honolulu and Honolulu County, HI; and Lexington and Fayette County, KY). The 69 included cites make up 17% of the US population. Demographic and socioeconomic characteristics of people residing in the cities are described in Supplementary Table 1.

Data sources

Mortality data was drawn from the "Detailed Mortality—All Counties" restricted use data files for 2018–2021 from the National Vital Statistics System (NVSS). We extracted records for all deaths of infants who were less than 1 year of age by race, ethnicity, and place of residence. We excluded the records of non-US residents and records in which infant age was missing. Death certificate data, including race and ethnicity, are completed by proxy (e.g., funeral director or attending physician). Natality data was drawn from the "Natality—All Counties" restricted use data files for 2018–2021 from NVSS. Records for all births were extracted by the race, ethnicity, and place of residence of the mother.

We examined associations between city-level infant mortality rates and a composite measure of structural racism, several indexes that capture racial and ethnic inequity, and a number of unidimensional socio-economic characteristics summarized at the city level. From the 2020 US Census and 2017-2021 American Community Survey 5-year estimates, we included high school graduation rate (overall, Black, and white), poverty rate (overall, Black, and white), median household income (overall, Black, and white), percent uninsured (overall, Black, and white), percent of households with very high rent burden (>35% of income), percent of adults age 18-64 housed in correctional facilities (overall, Black, and white), and Gini coefficient, a measure of income inequality, for each city. Measures of neighborhood racial and ethnic segregation and racial and ethnic diversity for all of the cities came from the City Health Dashboard (15). Finally, we incorporated a measure of structural racism, developed by Siegel et al. using latent class analysis and structural equation modeling (27). This measure combines 14 different

variables on 5 dimensions of structural racism (segregation, employment, economic status, education, and incarceration) into a single measure expressed in terms of standard deviations from the mean for all cities (which was represented by zero).

Statistical analysis

Overall, non-Hispanic Black, and non-Hispanic white infant mortality rates were calculated for the US as a whole and for each of the cities included in the study. Race-specific mortality rates (hereafter referred to as Black and white) and measures of inequity were calculated for all cities and city sub-groups where there were 20 or more infant deaths. A four-year average infant mortality rate (2018– 2021) was calculated to mitigate volatility in estimates due to low numbers of infant deaths in any single year. Infant mortality rates were calculated by dividing the total number of infant deaths during the period from 2018 to 2021 by the number of live births in the same period. Infant mortality rates are reported per 1,000 births.

Inequities between Black and white populations were described using rate ratios, rate differences, and annual excess Black deaths. Excess Black deaths were calculated by determining how many Black infants would have died if the Black population experienced the same infant mortality rate as the white population in each city, then subtracting the expected number of deaths from the observed deaths for each year.

We used Spearman's Rank Correlation to assess the presence of significant correlations between four key outcomes (overall infant mortality rate, Black infant mortality rate, white infant mortality rate, and Black:white infant mortality rate ratios) and each of the aforementioned measures of city-level sociodemographic characteristics, segregation, diversity, and structural racism. Significance was set at p < 0.05.

Analysis for this study was completed using SAS version 9.4 and Stata version 18.1.

Results

Our analysis included 81,890 infant deaths and 14,817,191 births during the 4-year study period. The US and each of the 69 cities had at least 20 infant deaths among the total population for the study period. Non-Hispanic Black infant mortality was not calculated for 15 cities where there were fewer than 20 deaths to Black infants during the study period. Similarly, non-Hispanic white infant mortality rates were not calculated in 13 cities for the same reason. In 48 cities and the US where there were at least 20 infant deaths in both the Black and white populations, we calculated Black:white infant mortality rate ratios, Black:white infant mortality rate differences, and excess Black infant deaths.

Overall and race-specific infant mortality

The infant mortality rate for the US in 2018–2021 was 5.53 deaths per 1,000 births (see Figure 1). The city-level rates ranged from 1.96 in Irvine to 13.92 in Detroit. Of the 69 cities, 41 cities had higher infant mortality rates than the US and 28 had lower rates. The Black infant mortality rate for the US was 11.01. Black infant mortality rates in study cities ranged from 6.61 in Orlando to 17.79 in Cleveland. Thirty of the 54 cities where Black rates could be calculated had rates higher than the US rate (11.01); three cities had rates over 15 deaths per 1,000 births (Detroit, Tulsa, and Cleveland). The white infant mortality rate for the US was 4.35. The city-level white rate ranged from 1.82 in San Francisco to 7.31 in Detroit. Of the cities where white infant mortality rates were calculated, 21 of 56 had rates greater than the US rate.

Inequities in infant mortality

Strikingly, the Black infant mortality rate was higher than the white infant mortality rate in the US and all 48 cities with sufficient data for both groups. The rate ratio, which represents the relative difference in Black and white infant mortality was 2.53 for the US. In other words, the Black infant mortality rate was 2.53 times higher than the white rate during the study period. Among cities, the Black:white rate ratio ranged from 1.83 in Omaha to 5.03 in Cincinnati. Moreover, the rate ratio was greater than 4 in 10 cities and greater than five in two (San Diego and Cincinnati).

In Figure 2, we plotted the 48 cities based on both overall infant mortality rate (y-axis) and the racial inequity in infant mortality, as measured by the rate ratio (x-axis). The US infant mortality rate and Black:white inequity in infant mortality were used to separate outcomes into quadrants. The lower left quadrant represents the "bestperforming cities" that had infant mortality rates below the US rate and Black:white inequity below the national level of inequity. The only city that met these criteria was Orlando. The upper right quadrant represents the "worst-performing" cities with infant mortality rates higher than the US and levels of racial inequity greater than the US. There were 27 cities with poor outcomes for both measures which met these criteria. The remaining cities performed comparatively well for either overall infant mortality or equity. For example, San Diego had one of the lowest infant mortality rates, but the largest racial inequity. Conversely, Detroit was one of the most equitable cities for infant mortality, but it also had the highest overall infant mortality rate.

Figure 3 shows the annual number of excess Black infant deaths. The size of the excess Black deaths measure is a function of both the size of the Black:white inequity in a city and the size of the Black population. Excess Black infant deaths ranged from fewer than five deaths per year in seven cities to 92 deaths per year in New York. Five cities had over 50 excess Black infant deaths each year (Detroit, Philadelphia, Houston, Chicago, and New York).

Infant mortality and measures of structural racism

Table 1 shows correlation analyses between city-level measures of sociodemographic characteristics, infant mortality rates, and Black:white rate ratios. Several city-level measures were not related to Black:white rate ratios, including education, income inequality, health insurance, rent burden, and the standardized structural racism score. None of the included measures of structural racism were significantly associated with Black:white rate ratio. In contrast, there were significant relationships between a city's overall infant mortality rate and poverty ($R^2 = 0.55$), median household income ($R^2 = -0.76$), incarceration rates ($R^2 = -0.38$).

Location	Total IMR	Black IMR	White IMR	B:W Rate Ratio ³	95% CI	B:W Rate Difference ³	95% CI	
Jnited States	5.53	11.01	4.35	2.53	2.49 2.57	6.66	6.51	6.81
Cincinnati, OH	6.51	12.03	2.39	5.03	3.40 7.46	9.64	7.49	11.79
an Diego, CA	3.62	11.69	2.33	5.01	3.28 7.66	9.36	5.69	13.02
aleigh, NC	6.67	13.11	2.85	4.59	3.02 6.98	10.26	7.35	13.17
ortland, OR	3.59	11.04	2.48	4.46	2.73 7.29	8.56	4.20	12.93
hoenix, AZ	5.79	13.06	2.43	4.39	3.21 6.02	10.09	7.37	12.8
	6.31			4.39		9.02	7.79	10.24
hicago, IL		11.73	2.71					
tlanta, GA	5.92	9.65	2.24	4.31	2.78 6.67	7.41	5.66	9.16
lashville, TN ²	7.06	14.26	3.42	4.17	3.12 5.58	10.84	8.40	13.27
akersfield, CA	5.64	11.98	2.95	4.06	2.37 6.96	9.03	4.15	13.93
/inneapolis, MN	6.54	11.96	2.97	4.02	2.62 6.16	8.98	6.10	11.87
leveland, OH	12.12	17.79	4.53	3.92	2.55 6.04	13.25	10.15	16.36
oston, MA	4.39	9.35	2.41	3.88	2.47 6.09	6.94	4.38	9.49
ampa, FL	5.21	10.06	2.77	3.63	2.45 5.38	7.29	5.05	9.54
enver, CO	5.02	9.27	2.63	3.53	2.26 5.50	6.64	3.45	9.84
1ilwaukee, WI	9.79	14.87	4.24	3.51	2.39 5.14	10.63	8.25	13.03
ansas City, MO	6.82	11.74	3.47	3.38	2.37 4.82	8.27	5.73	10.83
hiladelphia, PA	6.87	11.45	3.44	3.33	2.61 4.26	8.01	6.60	9.43
acksonville, FL	8.77	14.52	4.47	3.25	2.54 4.16	10.06	8.00	12.13
os Angeles, CA	4.03	8.61	2.65	3.25	2.48 4.26	5.96	4.28	7.64
altimore, MD	8.42	11.55	3.56	3.25	2.19 4.82	7.99	5.91	10.04
olorado Springs, CO	5.75	14.01	4.43	3.16	2.19 4.82	9.58	4.42	10.08
ew York, NY								
,	3.65	7.05	2.24	3.15	2.74 3.63	4.81	4.17	5.46
ulsa, OK	7.59	16.10	5.20	3.09	2.14 4.47	10.90	6.75	15.0
acramento, CA	5.76	12.03	4.04	2.97	2.06 4.29	7.98	4.87	11.1
irginia Beach, VA	5.64	9.33	3.31	2.82	1.84 4.33	6.02	3.04	9.01
as Vegas, NV	3.76	6.97	2.49	2.80	1.99 3.94	4.48	2.90	6.06
an Antonio, TX	6.54	14.86	5.37	2.77	2.08 3.69	9.49	6.27	12.7
ustin, TX	3.87	7.40	2.67	2.77	1.78 4.31	4.72	1.99	7.45
harlotte, NC	5.43	9.28	3.36	2.76	2.03 3.76	5.92	4.22	7.63
allas, TX	6.23	10.72	3.92	2.74	2.08 3.60	6.80	5.04	8.57
urora, CO	5.66	7.99	2.93	2.72	1.57 4.71	5.05	1.95	8.15
ouston, TX	5.82	10.92	4.05	2.70	2.22 3.29	6.87	5.63	8.11
lemphis, TN	9.80	12.07	4.53	2.66	1.81 3.91	7.53	5.40	9.67
/ichita, KS	7.29	14.05	5.31	2.65	1.80 3.89	8.74	4.33	13.1
t. Louis, MO	8.85	13.09	4.98	2.63	1.73 3.99	8.11	5.00	11.23
				2.62				
resno, CA	5.98	11.66	4.44		1.54 4.47	7.22	2.60	11.8
olumbus, OH	9.02	13.86	5.33	2.60	2.07 3.28	8.54	6.50	10.5
klahoma City, OK	7.53	12.78	4.94	2.58	1.82 3.67	7.83	4.57	11.09
rlando, FL	4.09	6.61	2.87	2.31	1.55 3.43	3.75	2.07	5.42
exington, KY ²	5.96	10.69	4.84	2.21	1.40 3.49	5.85	1.84	9.85
ttsburgh, PA	9.12	13.80	6.36	2.17	1.44 3.26	7.44	3.29	11.5
etroit, MI	13.92	15.51	7.31	2.12	1.41 3.19	8.20	4.94	11.4
ouisville, KY ²	6.03	10.20	4.82	2.12	1.61 2.79	5.38	3.21	7.55
ort Worth, TX	6.51	9.83	4.66	2.11	1.57 2.84	5.17	3.00	7.34
ew Orleans, LA	7.17	9.22	4.58	2.01	1.28 3.17	4.63	2.01	7.26
rlington, TX	5.59	9.68	4.88	1.98	1.24 3.17	4.80	1.58	8.02
idianapolis, IN ²	7.62	10.96	5.92	1.85	1.49 2.30	5.04	3.24	6.83
maha, NE	6.86	12.63	6.90	1.83	1.32 2.54	5.73	2.13	9.33
ewark, NJ	6.66	10.36						
. Paul, MN	6.27	12.04						
ucson, AZ	5.69		3.78					
ashington, DC	5.55	9.65						
onolulu, HI ²	5.52		3.42					
esa, AZ	5.26		4.24					
ockton, CA	5.21	12.85						
orpus Christi, TX	4.90							
buquerque, NM	4.77		2.72					
iami, FL	4.53	10.65						
akland, CA	4.33	10.32						
	4.24	10.52					-	
Paso, TX			5.64					
anta Ana, CA	4.21							
eattle, WA	4.05		3.09					
iverside, CA	4.02							
naheim, CA	3.80							
enderson, NV	3.57							
ong Beach, CA	3.54							
an Jose, CA	3.37		3.92					
in Francisco, CA	3.12		1.82					
in Francisco, CA	1.96		1.02					

FIGURE 1

Age-adjusted infant mortality rates¹ and measures of inequities (2018–2021). Notes: IMR = infant mortality rate; NH = non-Hispanic; B:W = Black:white; CI = confidence interval. ¹Mortality rates are shown per 1,000 births. ²Data is for consolidated city-county. ³All rate ratios and rate

differences are significant (p < .05). "---" Indicates data were suppressed due to a low number of infant deaths during the study period.



Similar associations were seen for the Black infant mortality rate. The white high school graduation rate ($R^2 = -0.44$), the Black poverty rate ($R^2 = 0.38$) and white poverty rate ($R^2 = 0.46$), and median household income (overall: $R^2 = -0.46$, Black: $R^2 = -0.38$, white: $R^2 = -0.65$) were significantly related to Black infant mortality. Additionally, the overall percentage of incarcerated adults ($R^2 = 0.35$) and the percentage of white adults incarcerated ($R^2 = 0.43$) were related to infant mortality. Only the Racial and Ethnic Diversity measure was significantly related to the Black infant mortality rate ($R^2 = -0.33$).

The white infant mortality rate was significantly associated with the white high school graduate rate ($R^2 = -0.46$), the white poverty rate ($R^2 = 0.38$), and median household income (overall: $R^2 = -0.59$, Black: $R^2 = -0.39$, white: $R^2 = -0.73$). The white uninsured rate ($R^2 = 0.41$) and the White incarceration rate ($R^2 = 0.36$) were each moderately associated with the white infant mortality rate. The only structural racism measure that was related to white infant mortality was the Racial and Ethnic Diversity measure ($R^2 = -0.41$).

Finally, both overall median household income ($R^2 = 0.33$) and white median household income ($R^2 = 0.37$) were associated with the Black:white infant mortality rate ratio. Additionally, the Black uninsured rate ($R^2 = -0.29$) and white uninsured rate ($R^2 = -0.34$) were significantly related to the Black:white rate ratio. Interestingly, none of the included measures of structural racism were related to the Black:white infant mortality rate ratio.

Discussion

These results show greater variation in race-specific infant mortality rates and inequities at the city level compared to analyses utilizing larger geographic levels of analysis (3). Similar to state-level analysis conducted by Matthews et al. (3), we found that cities with the largest overall infant mortality rates and race-specific rates were in the midwestern and southern parts of the US; however, inequities in infant mortality were largest in some western cities, including San Diego, Portland, Phoenix, and Bakersfield, in addition to midwestern and southern cities. The geographic variation in infant mortality rates as well as inequities in infant mortality suggests that there may be other factors associated with infant mortality and which vary by city.

We examined the correlation between city-level measures of structural racism to understand the ways in which differing levels of resources and opportunities impact rates of infant mortality across US cities. In addition to evaluating measures specific to individual domains of structural racism (high school graduation, poverty, median household income, insurance coverage, high rent burden, and incarceration), we also assessed composite scores (GINI Coefficient, Neighborhood Racial and Ethnic Segregation, Racial and Ethnic Diversity, and the Standardized Structural Racism Score) designed to examine inequality, segregation, or structural racism, which have been associated with poor health outcomes in the literature.

Similar to other studies examining the relationship between structural racism and adverse health outcomes, we found significant correlations between infant mortality rates and city-level indicators of socio-economic status (10, 11, 16). In our study, city-level poverty rate was positively associated with both overall infant mortality rates and Black infant mortality rates. This finding echoes those of Wallace et al. (11) and Bishop-Royse et al. (17), whose studies showed that increased inequity in socioeconomic measures was associated with increased rates of overall infant mortality and Black infant mortality. Our results also align with the current literature, which clearly shows a relationship



between disproportionate incarceration rates of Black residents and adverse maternal and neonatal outcomes (18–20).

While others have shown associations between maternal and neonatal outcomes and educational attainment, housing, medical care, community infrastructure, and segregation (9, 21), we did not observe significant relationships between infant mortality rates and these measures in our analyses. These null findings could be attributed to the fact that our study used city-level measures rather those calculated at smaller geographic units like census tract, block group, or individual level, which allows for more specificity and greater variation.

Additionally, we detected a significant relationship between median household income, white household income and the Black:white infant

mortality rate ratio. Across the other measures of structural racism, there were no statistically significant findings when using the Black:white infant mortality rate ratio as the outcome of interest. We suspect that this is a result of the associations of structural racism on Black infant mortality rates and white infant mortality rates; while increases in measures of structural racism result in negative outcomes for Black infants, in our study they were also associated with negative outcomes for white infants, resulting in null findings for the comparative measure.

Confirmation of associations between composite measures of structural racism and Black:white infant mortality rate ratios was hindered by the number of cities included in our analysis. Despite its status as a useful indicator of population health, in the United States,

			Overall IMR		Black IMR		White IMR		Black:white Rate Ratio	
	Median	Range	Coefficient ¹	<i>p-</i> value	Coefficient ¹	<i>p-</i> value	Coefficient ¹	<i>p-</i> value	Coefficient ¹	<i>p-</i> value
Socio-demograp	hic charac	teristics								
High school										
graduation rate (%) ²	88.2	78.4-94.5	-0.06	0.677	-0.03	0.851	-0.07	0.641	0.06	0.665
Black rate	88.4	74.7-93.8	-0.35	0.013	-0.03	0.824	0.01	0.943	-0.02	0.889
White rate	95.1	84.4-98.6	-0.53	<0.001	-0.44	0.002	-0.46	<0.001	0.21	0.161
Poverty rate (%) ²	16.1	7.8-31.8	0.55	<0.001	0.31	0.034	0.22	0.130	-0.02	0.891
Black rate	24.8	14.2-37.8	0.51	<0.001	0.38	0.008	0.27	0.059	-0.02	0.891
White rate	10.2	5.7-30.6	0.54	<0.001	0.46	<0.001	0.38	0.008	-0.09	0.534
Median household income (\$) ²	61,441	33,678- 89,457	-0.76	<0.001	-0.46	0.001	-0.59	<0.001	0.33	0.024
Black median	41,029	25,351- 61,984	-0.63	<0.001	-0.38	0.007	-0.39	0.007	0.15	0.305
White median	77,543	44,089- 116,299	-0.73	<0.001	-0.65	<0.001	-0.73	<0.001	0.37	0.009
Uninsured rate (%) ²	10.1	3.4-23.8	0.01	0.934	-0.02	0.886	0.14	0.345	-0.20	0.176
Black rate	10.4	4.4-19.9	0.13	0.394	0.06	0.686	0.27	0.068	-0.29	0.046
White rate	6.1	2.0-11.3	0.26	0.079	0.19	0.194	0.41	0.004	-0.34	0.019
Households with high rent burden (%) ²	40.8	34.8-52.6	-0.18	0.232	-0.21	0.145	-0.15	0.307	-0.04	0.810
Adults 18–64 years in correctional facilities (%) ³	0.5	0-2.06	0.43	0.002	0.35	0.016	0.26	0.075	-0.01	0.921
Black rate	1.0	0-3.36	0.10	0.514	0.20	0.174	0.08	0.572	0.07	0.656
White rate	0.4	0-1.58	0.42	0.003	0.43	0.002	0.36	0.013	-0.10	0.490
Composite measu			0.12	0.005	0.15	0.002	0.50	0.015	0.10	0.190
	1		0.05	0.725	0.21	0.146	0.26	0.074	0.14	0.257
GINI coefficient ²	0.5	0.42-0.57	0.05	0.725	-0.21	0.146	-0.26	0.074	0.14	0.357
Neighborhood Racial and Ethnic										
Segregation ⁴	20.5	8.4-41.9	0.37	0.010	0.02	0.870	-0.03	0.859	0.05	0.722
Racial and Ethnic Diversity ⁴	73.9	49.6-92.4	-0.38	0.007	-0.33	0.023	-0.41	0.004	0.19	0.197
Standardized Structural Racism Score ⁵	0.6	-0.75- 2.88	-0.04	0.818	-0.24	0.116	-0.27	0.082	0.16	0.313

TABLE 1 Correlations between city-level characteristics, infant mortality rates (IMR), and Black:white rate ratios (2018–2021).

 1 Spearman's rank correlation coefficient. Significant correlations (p < 0.05) are bolded. 2 American Community Survey 5-year estimates for 2017–2021.

³2020 U.S. Census.

⁴City Health Dashboard (15). Neighborhood Racial and Ethnic Segregation—a higher score = more segregation; Racial and Ethnic Diversity—a higher score = more diversity.

⁵Siegel et al. (27). Combines 5 dimensions of structural racism (segregation, employment, economic status, education, and incarceration) into a single measure. Data not available for 5 cities: Arlington, TX; Baltimore, MD; Columbus, OH; Lexington, KY; Orlando, FL.

infant death is a rare event, such that many of our study cities could not be included because the number of infant deaths was too low for inclusion (fewer than 20 deaths over the study period).

It is also possible that the measures of structural racism deployed in this study are not adequate for city-level investigations. Much of the literature that attempts to examine the impact of structural racism on infant mortality has utilized other measures such as the Index of Concentration at the Extremes, that are more readily calculated for neighborhood or community (17, 22), county (8), and state (3) levels. It may be the case that there is too much heterogeneity in the large cities included in our sample to be adequately represented by the composite measures we utilize.

Taking action

Many initiatives have emerged to address poor maternal and child health, as well as the persistent racial inequities in infant mortality. Initiatives range in scope, timing, and level of focus. Some seek to immediately reduce infant mortality rates, such as an initiative that provides doulas to low-income women in New York through the By My Side Support Program (13). Others seek to address inequities in maternal and child health in the medium and long term, such as initiatives that develop new clinical payment models to encourage provider action and programs seeking to increase recruitment and retention of Black maternal health clinicians (23). Other upstream interventions seek to improve maternal and infant health outcomes by addressing the root causes of inequity, through activities such as developing improvements to the built environment or enhancing educational opportunities in Black communities (12).

A key component of interventions that can successfully address inequities in birth outcomes is the involvement of local communities in understanding the history of the area, identifying problem areas, and developing interventions or programs to affect change. One program developed by CityMatCH, an organization made up of Maternal and Child Health programs in city health departments, collected oral histories of individual neighborhoods by interviewing residents. The oral history project revealed events that drastically altered life in the cities, such as new highway development or street closures that broke apart neighborhoods and caused increased isolation for residents; these types of events had not been previously recognized by health departments as a potential source of inequities that needed to be addressed. Another New Jersey initiative, Nurture NJ, focused on community building in order to transform one of the highest ranked states in maternal deaths and Black:white inequities into one of the safest places to give birth. The strategic trend in involving the people most affected by racial and ethnic inequities in birth outcomes aids in framing differences as a result of social determinants rather than merely individual risk and redirecting the focus of interventions to those that address social determinants. Other actions that have bolstered these initiatives include the recent movement of states and organizations to officially declare racism as a public health crisis and changes in National Institutes of Health funding in response to a recognition of the lack in funding for Black researchers (12).

Limitations

This work has several limitations. The race and ethnicity data come from death certificates, which rely on the reporter's observations or interviews with the decedent's family. Fortunately, research suggests reporting for the racial and ethnic categories used here (white and Black races and Hispanic ethnicity) is highly accurate (24, 25). In addition, the analyses were limited to non-Hispanic Black and non-Hispanic white populations; we chose these populations because they are frequently used in the US to represent the extremes of privilege and marginalization (26) in the context of health inequities. Our study was also not able to include the Index of Concentration at the Extremes (ICE), a measure of structural racism that has been found to be associated with inequities in infant mortality in other studies (16, 17), because this measure is typically used for analyses of smaller levels of geography like neighborhoods and community areas.

Further study

Although small numbers of deaths will make analyses challenging, additional work examining inequities affecting other racial and ethnic groups would be valuable. Further examination of racial inequity in infant mortality and its association with measures of structural racism is warranted, particularly among a greater number of geographic areas and over a longer period of time. Additionally, given the low absolute number of infant deaths in smaller geographic areas like cities, it would also be beneficial to focus research efforts on the link between measures of structural racism and outcomes that are likely to be related to infant mortality, such as preterm birth, low birthweight, and maternal access to prenatal care.

Conclusion

Mortality in the U.S. continues to depend on both race and geography, reflecting the long-term effects of racism on health, as well as the importance of looking at population-level factors. Here we highlight racial inequities in infant mortality at the city level and explore the social and structural characteristics of cities that may underlie those disparities. Addressing the appalling levels of inequity within this critical health outcome will require both individual- and population-level interventions, at the local and national levels. This study provides valuable data to help understand current city-level inequities to guide urban policies and programs aimed at improving birth outcomes.

Data availability statement

The data analyzed in this study is subject to the following licenses/ restrictions: the analysis used restricted use mortality and natality datasets from the National Center for Health Statistics. Researchers may submit a data request for the datasets, which includes analytical plans and is subject to approval by the National Center for Health Statistics. Requests to access these datasets should be directed to nvssrestricteddata@cdc.gov.

Ethics statement

Ethical approval was not required for the study involving humans in accordance with the local legislation and institutional requirements. Written informed consent to participate in this study was not required from the participants or the participants' legal guardians/next of kin in accordance with the national legislation and the institutional requirements.

Author contributions

NS: Conceptualization, Data curation, Formal analysis, Methodology, Project administration, Validation, Visualization,

Writing – original draft, Writing – review & editing. JB-R: Conceptualization, Data curation, Formal analysis, Methodology, Writing – original draft, Writing – review & editing. BS: Conceptualization, Writing – original draft, Writing – review & editing. AL: Conceptualization, Writing – original draft, Writing – review & editing. MB: Conceptualization, Methodology, Project administration, Resources, Supervision, Visualization, Writing – original draft, Writing – review & editing.

Funding

The author(s) declare financial support was received for the research, authorship, and/or publication of this article. JBR's work on this manuscript was supported by SUHI's Equity Research Faculty Fellowship.

Acknowledgments

NSS had full access to all the data in the study and takes responsibility for the integrity of the data and the accuracy of the data analysis.

References

1. Ely DM, Driscoll AK. Infant mortality in United States: Provisional data from the 2022 period linked birth/infant death file. Hyattsville, MD: National Center for Health Statistics (U.S.) (2023).

2. Duchon LM, Andrulis DP, Reid HM. Measuring progress in meeting healthy people goals for low birth weight and infant mortality among the 100 largest cities and their suburbs. *J Urban Health Bull.* (2004) 81:323–39. doi: 10.1093/jurban/jth121

3. Matthews TJ, Ely DM, Driscoll AK. State variations in infant mortality by race and Hispanic origin of mother, 2013-2015. *NCHS Data Brief.* (2018) 1–8.

4. Bailey ZD, Krieger N, Agénor M, Graves J, Linos N, Bassett MT. Structural racism and health inequities in the USA: evidence and interventions. *Lancet.* (2017) 389:1453–63. doi: 10.1016/S0140-6736(17)30569-X

5. Chambers BD, Arega HA, Arabia SE, Taylor B, Barron RG, Gates B, et al. Black Women's perspectives on structural racism across the reproductive lifespan: a conceptual framework for measurement development. *Matern Child Health J.* (2021) 25:402–13. doi: 10.1007/s10995-020-03074-3

6. Dyer Z, Alcusky MJ, Galea S, Ash A. Measuring the enduring imprint of structural racism on American neighborhoods: study examines food insecurity low-income Asian Americans and low participation in the CalFresh nutrition program. *Health Aff (Millwood)*. (2023) 42:1374–82. doi: 10.1377/hlthaff.2023.00659

7. Groos M, Wallace M, Hardeman R, Theall KP. Measuring inequity: a systematic review of methods used to quantify structural racism. *J Health Disparities Res Pract.* (2018) 11:13.

8. Vilda D, Hardeman R, Dyer L, Theall KP, Wallace M. Structural racism, racial inequities and urban-rural differences in infant mortality in the US. J Epidemiol Community Health. (2021) 75:788–93. doi: 10.1136/jech-2020-214260

9. Fishman SH, Hummer RA, Sierra G, Hargrove T, Powers DA, Rogers RG. Race/ ethnicity, maternal educational attainment, and infant mortality in the United States. *Biodemography Soc Biol.* (2021) 66:1–26. doi: 10.1080/19485565.2020.1793659

10. Pabayo R, Ehntholt A, Davis K, Liu SY, Muennig P, Cook DM. Structural racism and odds for infant mortality among infants born in the United States 2010. *J Racial Ethn Health Disparities*. (2019) 6:1095–106. doi: 10.1007/s40615-019-00612-w

11. Wallace M, Crear-Perry J, Richardson L, Tarver M, Theall K. Separate and unequal: structural racism and infant mortality in the US. *Health Place*. (2017) 45:140–4. doi: 10.1016/j.healthplace.2017.03.012

12. Rowley D.L., Hogan V.K., Abresch C., (2023). Road to equity in maternal and child health: Honoring the past and blazing new paths. Matern Child Health J doi: 10.1007/s10995-023-03761-x [Epub ahead of print].

13. Thomas M-P, Ammann G, Brazier E, Noyes P, Maybank A. Doula services within a healthy start program: increasing access for an underserved population. *Matern Child Health J.* (2017) 21:59–64. doi: 10.1007/s10995-017-2402-0

14. Big Cities Health Coalition (2024). Big cities health coalition.

Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Supplementary material

The Supplementary material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fpubh.2025.1484433/ full#supplementary-material

15. City Health Dashboard (2024). City health dashboard.

16. Chambers BD, Baer RJ, McLemore MR, Jelliffe-Pawlowski LL. Using index of concentration at the extremes as indicators of structural racism to evaluate the association with preterm birth and infant mortality-California, 2011-2012. *J Urban Health Bull.* (2019) 96:159–70. doi: 10.1007/s11524-018-0272-4

17. Bishop-Royse J, Lange-Maia B, Murray L, Shah RC, DeMaio F. Structural racism, socio-economic marginalization, and infant mortality. *Public Health*. (2021) 190:55–61. doi: 10.1016/j.puhe.2020.10.027

18. Conway JM. Mass incarceration and Children's health: a state-level analysis of adverse birth outcomes and infant, child, and teen mortality. *Fam Commun Health.* (2021) 44:194–205. doi: 10.1097/FCH.00000000000295

19. Larrabee Sonderlund A, Williams NJ, Charifson M, Ortiz R, Sealy-Jefferson S, De Leon E, et al. Structural racism and health: assessing the mediating role of community mental distress and health care access in the association between mass incarceration and adverse birth outcomes. *SSM - Popul Health*. (2023) 24:101529. doi: 10.1016/j.ssmph.2023.101529

20. Siegel M, Rieders M, Rieders H, Moumneh J, Asfour J, Oh J, et al. Structural racism and racial health disparities at the state level: a latent variable approach. *J Natl Med Assoc.* (2023) 115:338–52. doi: 10.1016/j.jnma.2023.07.003

21. Polednak AP. Black-white differences in infant mortality in 38 standard metropolitan statistical areas. *Am J Public Health*. (1991) 81:1480–2. doi: 10.2105/AJPH. 81.11.1480

22. Krieger N, Waterman PD, Spasojevic J, Li W, Maduro G, Van Wye G. Public health monitoring of privilege and deprivation with the index of concentration at the extremes. *Am J Public Health*. (2016) 106:256–63. doi: 10.2105/AJPH. 2015.302955

23. Ebuehi E.P., Sherrod D., Spellen S., Smit A., Charles C., Harville A., et al. (2023). The California black birth justice agenda: unifying the vision for systemic change. California Coalition for Black Birth Justice.

24. Arias E, Schauman WS, Eschbach K, Sorlie PD, Backlund E. The validity of race and Hispanic origin reporting on death certificates in the United States. *Vital Health Stat.* (2008) 2:1–23.

25. Caveney AF, Smith MA, Morgenstern LB, Lisabeth LD. Use of death certificates to study ethnic-specific mortality. *Public Health Rep.* (2006) 121:275–81. doi: 10.1177/003335490612100309

26. Hall JM, Carlson K. Marginalization: a Revisitation with integration of scholarship on globalization, intersectionality, privilege, microaggressions, and implicit biases. *Adv Nurs Sci.* (2016) 39:200–15. doi: 10.1097/ANS.00000000000123

27. Siegel M, Rieders M, Rieders H, Moumneh J, Asfour J, Oh J, et al. Measuring structural racism and its association with racial disparities in firearm homicide. *J Racial Ethn Health Disparities*. (2023) 10:3115–30. doi: 10.1007/s40615-022-01485-2